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Abstract

The low level of participation of women in the labour force has emerged as
an impediment to economic development in India over the past few decades. Our
study provides a theoretical framework to understand how social structure influ-
ences women’s labour market choices. We consider household decision making in
a two person household with a wife and a husband, and analyze decision making
in a non-patriarchal and patriarchal social structure. The patriarchal regime is
characterized by men having control over women’s labour supply decisions and the
non-patriarchal regime is characterized as being gender neutral. We find that the
patriarchal social structure generates inefficiencies as women are prevented from
joining the labour force even if they potentially earn more than their spouses.
Adding more structure to the framework and introducing a sector which allows
couples to purchase household help from the market, we see that the inefficiency
of the patriarchal system persists. Further, the model helps explain the U-shaped
labour supply curve of women with respect to women’s education level. Hence, the
study highlights the need for policies that increase the bargaining power of women
in patriarchal societies and target high levels of education for women as a solution.
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1 Introduction

The past few decades has seen the emergence of India as the fastest growing major econ-
omy in the world (World Bank, 2019). However, the growth story is mired in several
contradictions. One of the critically debated contradiction is the low level of Female
Labour Force Participation (FLFP). The low level of FLEFP is puzzling, since it has
accompanied rapid fertility transition and broad improvements in women’s education at-
tainment, which would tend to be supportive of an increase in participation of women in
the labour market (Afridi et al., 2017; Fletcher et al., 2017; Kapsos et al., 2014; Klasen
and Pieters, 2015). According to the National Sample Survey (NSS) 68" round National
Employment and Unemployment survey, 2011-12, the overall FLFP by usual primary
status in the age group 25 and above is 26.32 percent. If we further split the FLFP by
urban and rural, we see that the urban FLFP is 19.58 percent and the rural FLFP is
29.22 percent. Comparing India’s FLFP with the rest of the world, we see that, according
to ILO(2013), India ranks 121 out of 131 countries across the world and one of the lowest
in South Asia (Andres et al., 2017).

The low FLFP is a cause of concern for several reasons. The first is that India currently
has a large working age population with few dependents. Given that women make up
nearly half the working age population, having so few women participating in the labour
force has enormous economic implication. Esteve-Volart (2004) in their study show that,
for India, a 10 per cent increase in female-to-male ratio of managers would increase per
capita total output by 2 per cent and a 10 percent increase in female-to-male ratio of
total workers would increase per capita total output by 8 percent. The second is that
women’s participation in the labour force also has implication on the extent to which they
can benefit from economic growth. This is because employment and earnings are impor-
tant determinants of women’s bargaining power in the family(Anderson and Eswaran,
2009). The third is that there are positive spillovers from women’s earned income on
child indicators. There is fair evidence that children enjoy better educational outcomes
when mothers earn a wage income(Afridi et al., 2012; Luke and Munshi, 2011). All these
factors are extremely critical, because, despite the high rate of economic growth, India’s
per capita income and Human Development Indicators are very low when compared to
the rest of the world and a higher level of FLFP could potentially improve these indicators.

The existing literature tries to explain the phenomenon through socio-economic factors
that influence both the demand and supply of women’s labour supply. On the demand
side, it is argued that economic growth has not translated into higher job creation in gen-
eral and in particular for women (Fletcher et al., 2017; Kannan and Raveendran, 2012;
Klasen and Pieters, 2015; Naidu, 2016). This means that even though women want to
work, they do not find suitable jobs.

On the supply side, the predominant argument is that women face social stigma when
they engage in paid work. Fletcher et al. (2017) argue that Indian households require
women to prioritize household work and may even explicitly constrain work by married
women. Further evidence on social strictures on women’s participation in paid work is
provided by Ghai (2018), who finds that Indian States which have stronger social stric-
tures on women are less likely to have women engaging in paid work, especially at higher
levels of education.



The supply side explanation to the low FLFP is the starting point of our study. We
provide a theoretical framework to understand the economic rationale behind these stric-
tures on women’s participation in the labour force. The basis of the model is the conflict
of preference within a two individual household, where the couple pools resources and
takes decisions collectively. When it comes to labour supply, economic efficiency would
require the higher earning spouse to work full time, irrespective of gender. This provides
the households with the highest income and welfare. However, the low FLFP observed in
India seems to reflect economic inefficiency. We hence investigate further for a possible
explanation.

The answer might lie in the nature of social norms in India. In patriarchal societies, it is
within the control of men to prevent their wives from entering the labour force (Derné,
1994). If women are unable to join the labour force early in their working lives, they
are forever deprived of the credentials and networks that help an individual remain in
the labour force. Thus, not participating in the labour force early in their working lives
precludes future access to labour markets. The lack of access to paid work means that
they loose bargaining power within marriage (Anderson and Eswaran, 2009). In patri-
archal societies, the labour supply of married women is determined solely to profit their
husbands and hence generates a dead-weight loss. The husband has the option of letting
the wife work or follow a gender based division of work, where women don’t work to
prioritize care giving. The first option of letting the wife work has the benefit that the
household income and hence welfare is higher. The second option of preventing the wife
from participating in the labour force comes at the cost of a lower family income and
welfare. Despite the loss in overall household income, the husband might still exercise
this option because he can potentially gain from it. This is because the loss in the wife’s
bargaining power due to her not having access to labour markets, even if she breaks away
from marriage, means that husband can corner a larger share of the smaller household
income.

The model goes further to explain another set of recent empirical findings that link the
education and income level of the husband and wife, and FLFP. Klasen and Pieters (2015)
provides empirical support for a U-shaped relation between FLFP and the education level
of the wife in urban India. For rural India, Afridi et al. (2017) find a decline in FLFP with
respect to female education. Our model helps explain the response of FLFP to husband’s
wage or household income in a cross section as well as the response of FLFP to women’s
education levels.

The rest of the chapter is organized into 5 sections. The second section that follows
describes the general framework of household decision making. The third section explains
the supply of labour by households when the spouses have no conflict of preference. The
fourth section describes the household’s labour supply when there is conflict of preferences
between spouses. The fifth section introduces a market for household help and we show
that this can generate a U-shaped relation between the labour supply of the wife, and
her own education and husband’s income. The sixth and the last section summarizes the
key findings of this chapter.



2 Framework of Household Decision Making

In this section we introduce the general framework of household decision making. We
analyze the behavior of a representative household which comprises of a husband and a
wife, each endowed with a unit of time. They can allocate time between market work
(I;,7 = w, h) and household work(¢;,7 = w, h). Further, the wife and husband earn market
wages aw and w per unit of time spent on market work, respectively. Here, o denotes
the relative wage of wife with respect to the husband’s wage w. In marriage, the couple
pools resources when making decisions for the household.

Each spouse cares about two household goods, a wife specific and husband specific private
good, denoted by x,, and xj respectively. They also care about a household public good
that is produced using time allocated to household work. Cobb Douglas utility functions
that capture these preferences are given by:

up, = ()" (2)' 71" (1)
= (1) (2,) 7T (2)
Here, 0 = {%, 1} and § € (0,1) are parameters that represent the importance of private
consumption and household time to each spouse. Further, the household time allocation

T is t;,© = w, h, when they are unmarried and t,, + ¢, when married. We now analyze
the work choices of the spouses in the household assuming identical preferences.

3 Household Decision Making without Conflict of
Preferences

In this section we assume that wife and husband have identical preferences with o = %
Hence,

(2)2T7 (3)
()2 T7 (4)
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This gives us a model of household decision making were the spouses have no conflict of
preferences and hence optimize their common utility functions subject to their budget
constraint. Further, we assume that household time is not marketed and has no close
substitute. The household’s optimization problem is given by:

max  (23)2(2,,)2T"
Tw,Thytw,th

subject to :
Ty +xp = (1 —ty)aw + (1 — tp)w

T =ty +t,

We set up the Lagrangian for the household’s optimization problem which is as follows:

max L= (23)2(2,)2T% + AN(1 = t)ow + (1 — ty)w — 2, — T4)

Tw,Th,tw,th



The first derivatives of the Lagrangian are as follows:

oL 1

1

eI COM GO A (5)
T - )P - (©)
STZ; = Blan)? ()2 TP — daw (7)
g_i = B(xn)? (1) T = Aw (8)
‘;_i = (1—tp)w+ (1 —ty)aw -z, — (9)

Setting the first derivatives to zero, we see that the allocation of time depends on who
has the lower cost of household work. We analyze this as follows:

3.1 The wife’s wage is less than that of the husband or a < 1

In this case the wife makes the first contributions to household work and the husband
contributes any residual household time. We start by assuming that the husband works
in the market full time and only the wife contributes towards household work (or ¢, = 0
and T' = t,,). The constrained optimization problem is solved by setting equations 5, 6,
7 and 9 to zero and we find the following;:

awty,

Tw =T = 3 (10)
using this in the budget constraint we find that:
 (14+a)B
Ya(l+p)

We know that the wife’s time allocation cannot exceed 1 and hence we see that:

1 ) <
tw={MMﬁ”“—ﬂ (11)

arp a>p

We now derive the wife’s and husband’s private consumption for the interior and boundary
solution of t,,.

3.1.1 The wife’s household time allocation has an interior solution, o >

In this case we have, t;, = 0 and ¢, = S(J{il)gﬁ) Hence, T' = S(J{i)ﬂﬁ) The private consumption
levels are given by:

B _(1+a)w
T )



3.1.2 The wife’s household time allocation has a boundary solution, a < 3

Since t,, = 1, we cannot set gtL to zero. Hence we set 6L to zero and check the conditions
under Wthh the husband will start contributing to household work. Hence, now T =
1 + t5, or the total time allocated to household production is full time allocation of the
wife and time contributions of the husband. Now, we go back to the first order conditions

and set 5, 6,8 and 9 to zero and we find the following:

(1 + th)w
w = Tp = ——— 12
T Th 23 (12)
using this in the budget constraint we find that:
g—1
=
B+1

Since, f < 1, we are again at a boundary solution of t, = 0 and T = 1 for husband’s
time. We cannot set ‘9L - to zero since at this pomt - < 0. Hence setting 5, 6, and 9 to
zero we find:
w
Ty = Tp = —

2

3.2 The wife’s wage is greater than that of the husband or a > 1

In this case the husband makes the first contributions to household work and any residual
demand is contributed by the wife.We start by assuming that the wife works in the market
full time and only the husband contributes towards household work (or ¢,, = 0 and t = t,).
The constrained optimization problem is solved by setting equations 5, 6, 8 and 9 to zero
and we find the following:

(13)

LTy = Tp = —

20
using this in the budget constraint we find that:

_ (1+a)p
(1+5)

However, we know that the husband’s time endowment is 1 and hence:

1 if a>
th: (1+a)B
<

14
iy @ o

We now derive the wife’s and husband’s private consumption for the interior and boundary
solution of tj,.

3.2.1 The husband’s household time allocation has an interior solution, o < 1

8
In this case we have, t;, = ((1;:;% and t,, = 0. Hence, T' = ((1141;))5 . The private consumption
levels are given by:
(1+a)w
Ty =Tp = —————
"1+ B)
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3.2.2 The husband’s household time allocation has a boundary solution, o >
1

B

Since t;, = 1 we cannot set aL to zero. We set aL to zero to check the conditions under
which the wife will start contrlbutmg to household work. Hence, T' = 1 + t,, or the
total time allocated to household production is full time work of the husband and time
contributions of the wife. Now, we go back to the first order conditions and set equations
5,6, 7 and 9 to zero and we find the following:

(1+t,)aw
w=Tp = —-— 15
T Lh 23 ( )
—1
, _B-1
B+1
However, since # < 1, t,, cannot fall below 0. Hence, ¢, () and T"= 1. Here we again
have a boundary solutlon with respect to t,, and cannot Set to zero. Setting equations
5, 6 and 9 to zero we find the following:
ow
T ==

We now summarize the wife’s and husband’s market work decision, I; = 1 —t;, where i =
w, h, corresponding to different levels of the wife’s relative wage .

1 if a€(0,1)
=52 ifac 1,%) (16)
0 if a € %,oo)

0 if a€(0,0]
={% ifac(@) (17)
1 if a€ll,o00)

Each spouse’s labour supply, under collective decision making without conflict of prefer-
ences, is shown in figures 1 and 2.

The following proposition summarizes the implications of household decision making on
the labour supply of the spouses when there is no conflict of preferences between them.

Proposition 1: When there is no conflict of preferences between the wife and husband,
labour supply is determined by considerations of efficiency. The spouse who earns more
will always work full time irrespective of gender. The other spouse will either do full time
domestic work, or split his/her time between market and domestic work.
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Figure 1: The wife’s supply of market labour (l,,) as a function of her relative wage «
under collective decision making without conflict of preferences.
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Figure 2: The husband’s supply of market labour (I,) as a function of the wife’s relative
wage (a) under collective decision making without conflict of preferences.



4 Household Decision Making with Conflict of Pref-
erences

We introduce the idea of conflict of preferences by assuming that the husband doesn’t
care about the wife’s private consumption and vice versa or we assume o = 1. The utility
functions describing their preferences are now as follows:

Up = Th * tﬁ
Uy = Ty * t?

We also define two regimes of household decisions making. A non-patriarchal regime and
a patriarchal regime.

In the non-patriarchal regime, the couple pools their time endowment and jointly decides
private consumption of each spouse and their time allocations to household work. The
household decision making is formulated as a bargaining problem which is solved using
the Nash Bargaining solution. This is as follows:

max Ny = [z) - T" — Ry] 20 - T% — Ry

Taw,Th, L
s.t.
Ty +x, = (I—thw+ (1 —t,)aw
T = ty,+ts

Here, Ry, and R,, are the wife’s and husband’s threat points. The threat point in marriage
is their indirect utility outside marriage.

In the patriarchal regime, the husband has the choice of preventing the wife from partic-
ipating in the labour-force. If the wife is prevented from joining the labour force, time
allocation is gender specific with the wife doing household work full time and the hus-
band engaging in the labour-force while supplying any residual household time. Once the
decision of letting the wife join the labour force has been made, the household decision
making problem is again formulated as a bargaining problem where the couple decides
their private consumption and the husband’s time allocation. The bargaining problem
when the wife is allowed to work is the same as in non-patriarchal regime. However, if the
wife is prevented from joining the labour force, the household decision making problem is
again posed as bargaining problem and solved using the Nash Bargaining solution. In this
regime, the wife looses all her bargaining power since she can never enter the labour force
even as a single person household. Thus, her threat point goes to zero. The household’s
objective function is hence as follows:

max Np = [mh TP — Rh] [Iw . TB}

T, Th, T

s.t.

Ty +2p = (1—th)w
T = 1+t

Here, Ry is the husband’s threat point and the wife’s threat point R, = 0. We now
proceed to analyze the couple’s labour market decisions in each of these regimes.

8



4.1 The Non-Patriarchal Regime

We start by identifying the couple’s threat points which in marriage are their indirect
utilities when single. The couple’s indirect utilities when single are obtained from the
following decision making problems:

Max ry, - tﬁ st. xp=(1—tpw
Thslh

max T, t?

w
Ty, tw

st xy = (1 —ty)ow

Setting up the Lagrangian for the husband’s decision making problem, we have:
L=z -t0 4+ N1 —ty)w — ]

The first order conditions (FOCs) are as follows:

oL

oL
8_15,1 = Bl’hti_ﬁ —dw =0
oL
ﬁ = (1—th)w—$h:0

Solving the FOCs simultaneously we find:

w
Tp = —
h 1_{_5

s
ty = ———
h 1+B

Since the wife and husband are identical in preferences structure and differ only by wages,
the wife’s choices are as follows: Solving the FOCs simultaneously we find:

aw
Ty =

1+ 8
b B

1+

The indirect utility functions of the wife (V) and husband (V{?) are as follows:

ro_ BPw
N
w BPaw
R

For the Nash Bargaining solution we have R, = VJ* and R, = V. The household’s
optimization problem is hence given as follows:

B B
N s Pw s PBlaw
v (1+5)1+ﬁ] [“’”“’ BT
s.t.



Loy

Setting up the Lagrangian we have:

max Ly =
T, Thyth,tw

+xn =
T = ty,+1t,
Bow
B A e
{xh 1+ B)+

(1 —tp)w+ (1 —ty)aw

|-

Baw

FAo [(1 = th)w + (1 — ty)aw — x5 — Ty

The first derivatives of the Lagrangian are as follows:

OLN
0%y
OLN
Dy
OLN
oty

OLn
Oty

OLN
O\

T [xh-TfB—

B, TP
—A\w

B, T

—Aow

T° {xw-Tﬁ -

BPw
u+ﬁﬂw}_A
BPaw

e
BPw ] o BPaw
.8 B—1 .8
T Wy pyme) PO e T s
BPw ] el BPaw
.78 _ B—1 LB _ =T
= wpyes| o e T gy

(I —tp)w+ (1 —ty)aw — zy — x4

The value of a determines who has a lower opportunity cost of supplying household time
and hence, is a critical to decision making.

4.1.1 The wife’s wage is less than that of the husband or o < 1

Revisiting the first derivatives, if a < 1, then the wife’s opportunity cost of household
work is lower and hence, she will take the lead in allocating time towards household work.
The Husband will only supply any residual household time if the wife exhausts her time
endowment. We start by assuming that T' = t,, and ¢, = 0 and the first derivatives of
the Lagrangian are now as follows:

OLNn
0y,
OLNn
By
OLn
oty,

OLn
Oty

OLn
oA

= {xh-tﬁ—

:tﬁhwﬁ—

= watiil Th
—Aw

= 6$wtﬁ_1 T,
—daw

= w+ (1—ty,)

BPw
0+5V”]_
BPaw } \
(1+p)1h
BPw
(14 B)+8 |

10— +

+

QW — Ty — Tp,

10

ﬁxhtﬁfl

w

Brpt? |z

g

Ty *

48 BPaw
v 1+ ﬁ)lﬂ*}

3 BPaw }

e T



We now set the derivatives of the Lagrangian with respect to xj, ., t,, and A to zero.
Equating equations 23 and 24-

B8 aw BBw
0 gy 1P — | =tP R 28
w | T w (1 n /6)1+ﬁ w | Th " Uy (1 + B)H_B ( )
or 4
8 B o w
tw(mh :Ew) - (1 Oé) (1 + 6)1+B (29)
Setting equations 23, 24 and 26 to zero and solving simultaneously we get:
awt,,
Th+ Ty = 3 (30)
Using this in the budget constraint we find that:
(1+0)8
tw = 31
a(l+p) (31)

However, the wife’s time endowment is capped at 1. Hence we have:

1 ) <
o = { ey 027 (32)

iy Wa>p

We solve for the couple’s choice of private goods and their indirect utilities for both the
interior and boundary solution.

CASE 1: The wife’s household time allocation has an interior solution, o > f3

Here we have t, =0, t,, = (1(16: 5 and T = ol +/)Bﬁ) . Using these in equations 29 and 30 we
get:
(1+a)w
Th+ Ty = ———F— 33
h — (3)
1— B
Tp— Ty = (1= a)a’w (34)

(14+8)(1+a)f

Solving the above two equations simultaneously we get:

(I+ )P+ (1 - a)a’]w
2(1+B)(1+ a)?

[(1+ )" —(1-a)d’]w
2(148)(1 + a)?

The indirect utility functions are hence:

Th =

LTy —

(14 )" + (1 - a)o’] fPw
208 (1 + )15
[(1+a)* — (1 - a)a?] fPw
2a8(1 + p)H+F
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CASE 2: The wife’s household time allocation has a boundary solution, o < 3

In this case t,, = 1 and given that it is a boundary condition we cannot set %LT;V. We now
set %LTS to zero so that we can check if the husband contributes to household work. We
proceed by assuming that the wife works at home full time and the residual time demand
is supplied by the husband. Now, T' = 1 + t;,, The first order conditions that are to be
solved simultaneously are:

0Ly Bw
= TP o TP — —————— | =\ 35
oz, [wh (1+ )1+ )
OLN BPaw
——= = TP, TP - ———— | =\ 36
o1 o T - 0
8LN _ Bﬂw _ ﬁ'BO_/w
N LTPT Ny e g, TP — ———
at, fa [mh FOEG + B, T 1 By
—A\w (37)
oL
8—; = (1= tp)w— 24— (38)
Setting the first order conditions to zero and equating 35 and 36-
Baw BPw
T8 w-Tﬁ—B— =718 N A 39
o T = | =T | T - )
or 8
6. o w
Equating equations 35, 36 and 37 to zero and solving simultaneously we get:
Tw
Th+ Ty = ? (41)
Using this in the budget constraint we find that:
g—1
th =
B+1

However, since § < 1, we have t, = 0 and T' = 1. We again have a boundary solution
with respect to husband’s household time allocation and hence cannot set %LT;LV to zero
since it can be verified to be negative. Setting the first derivatives of the Lagrangian with
respect to zp,, x,, and A\ to zero we get:
Tp+ Ty =w (42)
Using 7' =1 in 40 and solving simultaneously with 42 we have:
[(1+8)"P + (1 —a)Bfw

"o 2(1+ B)1+?
L A+p™ —(1-a)ffw
v 2(1 4 B)1+75

The indirect utility functions are hence:

[(1+8)"P + (1 —a)Bfw
2(1+ p)r+s
(148" —(1-a)p’]w
2(1 4 )8
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4.1.2 The wife’s wage is greater than that of the husband or o > 1

In this case, the wife’s opportunity cost of household work is higher than that of the
husband. Hence, time allocations to household work are made by the husband first and
any residual requirement is supplied by the wife. We start by assuming that T" = ¢;, and
t, = 0 and the first derivatives of the Lagrangian are now as follows:

Oty th {xh b — (14 B)1+8 —A (43)
— B At R 44
oy, th {xw th (1+ B)1+5 A (44)
OLy . B—1 [ 8 BPw ] -1 [ 8 BPaw
o, Byt _xh 7% e + Bapt, _xw th 11 )
—Aw (45)
OLN - B—1 [ 8 BPw ] B—1 [ i BPaw
ot = Bty fhul O+6%W_+th T Y T ([ By
—ow (46)
oL
8/\N = w+ (1 —th)aw — 2y — 25 (47)

Setting the first derivatives with respect to xy, x,, t, and A to zero and equating 43 and
44 we have :

B B
olp o _Plaw | el s Pw
|- ) = [ - ) o
or 5
BPw
ti(xh —2y) =(1—-aq) (1+ B)1+8 (49)
Setting equations 43, 44 and 45 to zero and solving simultaneously we have:
by = Y (50)
Th Ty = ——
g
Using this in the budget constraint we find that:
(1+0)8
t, = 51
=S ()

However, we know that the husband’s time allocation for household time cannot exceed
his time endowment of 1 unit. Hence:

(1+a)B8 . 1
ty = 1P ifa<g (52)
1 if a> 3

We solve for the couple’s choice of private goods and their indirect utilities for both the
interior and boundary solution.
CASE 1: The husband’s household time allocation has an interior solution,

1
a<5
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Here, we have t,, = 0, t;, = (lffﬂ)ﬂ and T = (1110‘5)6 . Replacing these in equations 49 and
50 , we get:
B (1—o)w
R (O TRk
(1+a)w
Tp + Ty W

Solving simultaneously for x; ans x, we get :

[(1+ )P +1—a]w

T TR0 )1+ )
[+ ) —14a]w
T T A1+ )P

The indirect utility functions are hence:

(14 a)"P +1—a] BPw

(R
Vo (14 )" =1+ a] fPw
“ 2(1+ B)1+7

CASE 1: The husband’s household time allocation has a boundary solution,

042%

In this case, we have t;, = 1. Given that ¢, is at the boundary, we cannot set %LTN to
zero. However, we need to check if the wife too contributes to household work. For this
we repeat the optimization exercise setting t, =1 and T =1 + t,,:

B B
LU I N~ R
e M [x o ﬁ)Hﬁ] [”“” ST
HA[(1 = ty)aw — zy — 4]
FOCs:
8LN N 8 8 Bﬁw
g . - _ 4
oxp, r [x”“” T (1+ B)Lto A (54)
8tw - B:EwT [flﬁ'h T (1 i ﬁ)1+6 + 5th Lw T (1 + 5)1—}-5
—daw (55)
oL
a—;v = (1—ty)ow—xzy — ) (56)
Setting the first order conditions to zero and equating 53 and 54-
B B
ol o Blow |l s Bw
= R I = ] o7
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or

B
Using 57 while equating 53 and 55:
T
xh4-xw::-§§3 (59)
Using these in the budget constraint we find that:
ty = p-1
B+1

However, since < 1, we must be hitting a boundary condition with respect to t,.

Checking ?TN, we see that %?—N < 0. Hence, t, = 0 and T" = 1. Hence, setting the

derivatives of the Lagrangian with respect to xj, x,, and A to zero we find:
Bw

Thp — Ty = (1—&)W

Tp+ Ty = Qw
Solving simultaneously for x; and x,,:

la(1 4 8)"*7 +

2(1+ 7
. [a(1 + B)*7 —
v 201+ 0

1—a)flw
14+
1—a)f]w
145

Th =

~— | — | ™

The indirect utility functions are hence:

Vo [a(1+B)" + (1 - )8’ w
" 2(1+ B)+0

Vo [a(l+8)"* — (1 - )] w
v 2(1+ B)r+°

From the analysis of household decision making in the non-patriarchal regime, we learn
the following about the couple’s labour supply (I; = 1 — t; where i = w, h) and welfare:

lh = 1+

0 if a€(0,0]

B
ly = lﬁﬁ if a€(p,1)
1 if a€ll,00)
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Each spouse’s labour supply under collective decision making is shown in figures 3 and
4. We note here that the labour supply curves of the spouses, despite the conflict of
preferences, is identical to when there is no conflict of preference.
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Figure 3: The wife’s market labour supply (/,,) as a function of her relative wage « under
the collective regime.
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=1 1p %

Figure 4: The husband’s market labour supply (I5,) as function of the wife’s relative wage
a under the collective regime.
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4.2 The Patriarchal Regime

In this section we explore if the husband gains from segregation of work by gender. In
this regime the husband has the option of forcing the wife to stay home full time and not
participate in the labour force. If he chooses this option, he engages in the labour force
and supplies any residual household time. In this case the husband’s threat point remains
the same as in the non-patriarchal regime. However, the wife’s threat point shifts to 0
if the husband chooses to prevent her from working as she has no outside option given
that she is not part of the labour force. The husband chooses between the two regimes
depending on which one makes him better off. Further, we also check if the welfare of
the wife falls below her reservation utility when single.

The problem which involves bargaining over the household’s resources is as follows, if the
husband chooses to prevent the wife from working;:

max Np = |z, - (T)° — Bﬁ—w (20 - (T)"]
T, Th,th (1 + 5)14—5 v
s.t.
T +axp, = (1 —tp)w
T = th+1
Setting up the Lagrangian:
3w

Zw,Th

max Lp = {xh-T’B— ] (20 - T°] + M1 = tp)w — 2 — 21}

The first derivatives of the Lagrangian are as follows:

8Lp Bﬂw
— =17 TP — | -\ 60
0%y [Ih (1+ 5)1%] (60)
OLp
— = TPlx,-T°1 =\ 61
o [0 7] (61)
oLp _ 61 8 61 8 Brw
o, = Aol [ow T Beu TP o TP — g | —dw (62)
L
aa—/\P = (1—tp)w—1mzy,— x4 (63)
Setting the first derivatives to 0 and equating 60 and 61 we get:
Bl
T8 _ N 4
(‘Z'h $W) <1+6)1+5 (6 )
Setting equations 60, 61 and 62 to zero we get:
w
Th =+ LTy — 7
Using this in the budget constraint we get:
g—1
tp = —— 65
"T B+ (65)



OLp
otp,

find that at ¢, = 0, %LT: < 0. Hence we have t, =0 and T' = 1. Setting derivatives with

respect to zp, x,, and A to zero we get:

Since [ < 1, it must be that we cannot set to zero. Checking at the boundary we

B
(1+B)H+7
Th+ Ty = W

Th — Ty =

Solving the above equations simultaneously for z; and x,, we get:

B4+ w

Iy =

2 (1+5)+7
B+ B w
" 2 L+

The couple’s indirect utility functions are given by:

B8+ (14 B)+8 w

v 2 (1+ 5+
s e )
N 2 (1+p)r+?

4.2.1 The husband’s choice between the patriarchal and non-patriarchal regimes

Whether or not the husband chooses the patriarchal solution over the non-patriarchal
solution solely depends on what gives him a higher welfare. We compare his welfare in
the two regimes for different values of his wife’s relative wage a.

CASE 1: a € (0, /]
The husband’s indirect utility under the patriarchal solution, and denoted by subscript
Ph:

8% + (1 + B)"*Flw

2(1+ p)1+8

The husband’s indirect utility under the non-patriarchal solution, and denoted by sub-
script Nh:

VPh =

[(L+8)™ + (1 - a)8] w

Vi —
e 2(1+ B)+°
Comparing the indirect utilities of the husband, we find:
afPw
Ve = Vyp = ——-—5 >0 66
Ph — VNR L+ 3)1+8 (66)

We hence see that Vp, > Vi, for all « in this range.

CASE 2: a € (p,1)
The husband’s indirect utility under the patriarchal solution, denoted by subscript Ph:

67+ (1+ )" Plw
2(14 p)t++
19

Ven =




The husband’s indirect utility under the non-patriarchal solution, denoted by subscript
Nh:
(14 )P + (1 - a)o’] fPw

2a8(1 + pB)1+7

Comparing the indirect utilities of the husband, we find:

(1 +5)1+[3 (1 +a)1+5 BPw
Vph—VNh: {T—i‘&— b 2(1—|—ﬂ)1+6 (67)

VNh =

Using numerical methods, we show that Vp, > Vi, for all o in this range. Refer to
Appendix A.

CASE 3: o € [1,%)
The husband’s indirect utility under the patriarchal solution, denoted by subscript Ph:

167 + (1 4+ 8)"*Jw
2(1+ )18

Ven =

The husband’s indirect utility under the non-patriarchal solution, denoted by subscript

Nh:
[(1+ )P +1—a] BPw
Vn =
2(1 4 B)H+7
Comparing the indirect utilities of the husband, we find:
(1+ ﬁ)HB 8 BPw
Vph—VNh: {T—Fa—(l—i—a) W (68)

Using numerical methods, we can show that Vp, > Vi, if and only if o < @ in this range.
We see that @ > 1. Further, it is less than % only for g € (0,0.68). Refer to Appendix A
for the detailed analysis.

CASE 4: a € [%,oo)
The husband’s indirect utility under the patriarchal solution, denoted by subscript Ph:

6%+ (1+ )"+ Plw

VPh = 2(1 i 5)1+,3

The husband’s indirect utility under the non-patriarchal solution, denoted by subscript

Nh:

[o(L+ )™ + (1 - a)8] w
2(1 + p)1+p
Comparing the indirect utilities of the husband, we find:

VNh =

Ven — Vi = {1+ B — o [(1+ 8)1° — %]} MW
Vpn > Vi, if only if:
__(+pt
o> (1+5>1+5 — BB
20

a




Plotting @ as a function of 3, we find that a > % only for g € (0.68,1).
We now summarize the wife’s and husband’s labour supply (I; =1 —¢;, i = w, h) under

the patriarchal regime. If @ € <1, %)
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Figures 5 and 6 provide a graphical description of this case.
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Figures 7 and 8 provide a graphical description of this case.

4.2.2 Welfare of the wife in the patriarchal regime

The patriarchal solution in marriage does not always provide a woman with her utility
when she is single. The wife’s indirect utility under the patriarchal solution, denoted by
subscript (Pw) is:
(=87 + (1 + B)*Fw

2(1+ pB)r+s

Her utility as single and denoted by Vg, is:

VPw =

Baw
21

VSw -
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Figure 5: Wife’s market labour supply as a function of her relative wage a for & € <1, %)

The Dashed line indicates the labour supply in the non-patriarchal regime.
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Figure 6: Husband’s market labour supply as a function of the wife’s relative wage « for
RS (1, %) The Dashed line indicates the labour supply in the non-patriarchal regime.
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B o=1 1Pd %

Figure 7: Wife’s market labour supply (I,,) as a function of her relative wage « for

a e [%, oo). The Dashed line indicates the labour supply in the non-patriarchal regime.

ln A

v
a=1 pa o

Figure 8: Husband’s market labour supply (I;) as a function of the wife’s relative wage
a for @ € [%, oo). The Dashed line indicates the labour supply in the non-patriarchal

regime.
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Comparing the two we find that:

148
VPw_VSw: [%—%—O{]

_Pw
(14 B)t+s
Vpw — Vs > 0 if and only if:

Plotting ap as a function of g shows us that ap is increasing in 3. Refer to Appendix A
for the numeric plot.

We now summarize the findings of household decision making when there is a conflict of
preference between the wife and husband in the following three propositions:

Proposition 2: When household decisions are made in the non-patriarchal regime,
labour supply is determined by considerations of economic efficiency. The spouse who
earns more will always work full time irrespective of gender. The other spouse will either
do full time domestic work, or split his/her time between market and domestic work.

Proposition 3: When household decisions are made in the patriarchal regime, labour
supply is determined by considerations of the husband’s welfare. The husband faces the
dilemma of letting the wife work and enjoying a higher household income, or preventing
the wife from entering the labour force to gain bargaining power in the household at the
cost of a lower household income. As a result, in the patriarchal regime, under certain
conditions, women will be working at home full time even though it would be efficient for
them to join the labour force.

Proposition 4: When household decisions are made in the patriarchal regime, the wife
faces a loss of bargaining power, because she cannot be part of the labour force. As a
result of this, she will often not even receive the welfare that she enjoyed when she was
single. Quer this range of parameters, she will rationally choose to remain single provided
society allows that option.

5 Market Purchased Time in Household Decision Mak-
ing with Conflict of Preferences

We now extend the model by allowing household time () to be purchased from the
market. This market bought household time is assumed to be a perfect substitute for
a couple’s own time contributions to household work. Whether or not the household
purchases time from the market depends on whether purchasing household help is cheaper
than the opportunity cost of not working for the spouses.

We assume that marriage markets are characterized by exogenous matching based on
education and is such that a matched couple has identical education level. Men in the
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economy earn wages which are proportional to their education level. The wage function
at any point of time is given by:
w = Te

Here, 7 is a positive constant.

Women, however, face discrimination in the job markets and only earn a fraction a? of
the husband’s wage even though they have the same education level. However, we assume
that there is a household help sector in the economy which allows households to purchase
household time at a price w. This price also acts as a support wage for women. Hence,
the relative wage « of wife is ag when both spouses have education levels that earn them
incomes higher than the household help sector price. However, as wage level of women
falls below w the wage discrimination declines and at very low education levels of the
couple, turns in favour of women. Figure 9 shows the relation the husband’s wage and
the relative wage « of the wife. We now analyze the household’s labour market choices in

%A

=

>
\%
ol

Figure 9: Response of wife’s relative wage o to husband’s wage w.

each of the two household regimes with objective of mapping the labour supply of women
with respect to their husband’s wage rate and the wife’s education level.

5.1 The Non-Patriarchal Regime

We analyze the household’s labour market choices when decision making is in the non-
patriarchal regime. We have three cases. The first is when the wife’s and husband’s
wage rate is greater than the price of purchasing household help. The second is when the
husband’s wage rate is greater but the wife’s wage is less than the price of purchasing
household help. The third is when both spouses earn less than the price of purchasing
household help.
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5.1.1 The price of purchasing household time is less than both the wife’s and
husband’s market wages, w < w and w < agw.

In this case, the couple will choose to work full time in the market and purchase all the
required household time from the market. The household time that is purchased from
the market is denoted by ¢;,. Since the wife and husband earn more than the price of
purchasing household time, relative wage of the wife is ay. Since the household decision
making problem is solved using the Nash Bargaining Solution, we first find each spouse’s
threat-points which comes from the following optimization exercises:

max p, tf st. xp +wty, =w (70)
Thytp

Max ,, tf s.t. Ty + Wl = agqw (71)
Tw,lp

Solving this we find the following: For the man:

mh:m

Sw
(1+p)w
o Gy
© T (1+p)F

ty =

For the woman:
Qqw
1+ 75
Bagw
(1+p)w
(%)HB (%w)ﬁw
(1+ )5

Ty —

ty =

Vo =

The indirect utility of the husband and wife, when single, gives us their threat points.
This allows us to define the household’s decision making problem which is as follows:

w3 Bw\g  1+8
e (F)w o (F)lagw
xﬂﬁfv_l“tb ( ]Fw% (1+ B)i+5

Ty + T + Wt = (1 + ad)w
Setting up the Lagrangian we have:
STty 1+ /)8 | [T (14 p)i+s
A (1 + ag)w — xp, — @y — W)

Bw\B Bw\B 1+6
max L:[xhtf_((w)w] tﬁ M]
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First derivatives:

dLy 8 [ B (ﬁfw>6w
= ¢ Ty 2
O, b |Th Tt (1+ B)1+s A (72)
oL [ BwyB 148
o= ) oty (o) ay w) (73)
Oxp, (L4 B)t+s
JLy B-1 8 (%w)ﬁw B—1 8 (%")5aéww
o Bty [xh t, — (4 gy + Bty | Xy - b, — (11 B)F
—\w (74)
L
—%/\N = (14 agw —xp, — x, — W (75)
We set all the first derivatives of the Lagrangian to zero and find the following:
(F) w
téa(xh - Iw) = (1 - O‘cll+ﬁ> (1 + 5)14-,3 (76)
and,
tyw
T+ T = ”7 (77)
Using 77 in the budget constraint:
b Pw(l + ag)
"7 w1+ B)

Using optimal ¢, in 76 and 77, and solving simultaneously for x; and z,, :

w

ﬂ (14 aq)?(1+pB)

w

ﬂ (14 aq)?(1+pB)

1
T, = 5 [(1 + ad)1+ﬁ +(1- Oziﬁﬂ

1
v = 5 [(1+ a0 — (1 - a}*?

We can now calculate the indirect utility functions of the wife and husband:

BBy,

b= (i o] L
w8y,

V=g [0+ e =0 )

5.1.2 The price of purchasing household time is more than the wife’s market
wages and less than the husband’s wages, a,w < w and w < w.

Since the wife’s wage is supported by the household help sector price, she is indifferent
between purchasing household help or supplying it herself. We assume that she chooses
to work full time in the market and purchase all the needed household help from the
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market. The household decision making problem is identical to the previous case with
the only difference that the relative wage o = % > ag. Hence we have:

. Bu(ita)
’ w(1+ B)
1 1+ 1+ w
T, = 5[(1—1—(1) P+ (1= TS
1 1+ 14+ w
= 5 [T+ a)™ = (1= o) 1+ a)?(1+5)
Vi — 1 [(1 o)t (1 — aHB)] (%w)ﬁw
P (1+ p)1+6
V. = 1 [(1+ Q) —(1— aHB)} (%w)ﬁw
v 9 (1 + ﬁ)Hﬂ

5.1.3 The price of purchasing household time is more than wage rate of both
spouses, agw < w and w < w.

Here, a = % > 1. As the husband’s wage falls, a keeps rising and the analysis is identical
to the case when a > 1 and there is no household help sector.

Considering that w = £ we see that:

Lof  jfae 1,%) or w € (fw,w]

I, = 148
,oo) or w € (0, fu]

0 if a €

=

lo =1 if a€l,00) orw e (0,w]

(14+a) TP H1—a|pPw . .
v — [ 2(1+5)1+5] if a € [1, %) or w € (fw, W]
n (1+8)' P +(1-a)B° |w . _
G 2(1+5)1+ﬁa ] if ae [%,oo) or w € (0, ]
(A+a) P —1+a|pPw . .
Vo= | 2(1+B)1+ﬁ] if a€ [1,%) or w € (fw,w]
w a(1+8)HP —(1—a)BP |w . _
| 214 8)1 7P | if € [%, oo) or w € (0, fw|
Summarizing the results of the non-patriarchal regime and replacing o = % we have
the following:
0 if we (0,5w]
_wB
I = 11715 if we (bw,w
1 if we (w,o0)
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ly=1 YV w € (0,00)

([2(148) 7 +(1-2)5%|w : T
[ 2(1+5)1+B ] Zf w e (Oa B’UJ]
(1421541 2] g - S
v | 2(1+B)1 TP ] if we (fw,u]
h pu—
w w\1+8] (2)Pw : —
%[(14—;)“_5—'—1—(;) ]ﬁ Zf’LUE(UJ,a—d:|
1 (22)bw . w
\% |:<1 + Oéd>1+5 + 1-— de+/8:| W Zf w € (a_d7 OO)
¢ %(1+5)1+6_1+%5ﬁ w . -
[ 2(141B)+P ] if we (0, [w]
(1+%)1+5,1+% BBw . —
v [ 2(1+3)1+P ] Zf w e (B'IU,UJ]
v @ w\1+8] (29)Pw : - W
%[(1+E)1+ﬁ_1+(5) }W sze(w,a—d}
145] (3w ~ w
\%|:<].+Oéd>l+f8—]_—|—ad }W wa€<a—d,oo>

5.2 The Patriarchal Regime

In the patriarchal regime, the husband has the option of making the wife supply household
help full time and engaging himself in the labour market. Any residual demand for
household time is met by the husband or purchased from the market depending on its
affordability. We analyze this regime of household decision making for two cases, the first
when the husband’s wage is greater than the price of purchasing household time and the
second when it is less.

5.2.1 The price of purchasing household time is less than the husband’s
wages, w < w.

Here, the relative wage of the wife is & € [ag,1). In this case, we assume that the
husband works full time and the wife stays at home full time. Any additional household
time over and above the wife’s contribution is purchased from the market. The husband’s
threat point remains the same as in the corresponding case in the non-patriarchal regime.
However, when the husband prevents the wife from entering the labour force, her threat
point falls to zero. Hence, the couple’s threat points are as follows:

(22)u
1+ B)+
V=0

‘/E)h

The household decision making problem is hence given as follows:

(22)By
ma (TP — 2wl
wayxh}v(tb - (T) (14 )7
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s.t.
Ty +Tp+wWt, = w
T = 141

Setting up the Lagrangian we have:

max Lp: .I'h'(1+tb)'8—

ZTw,Th,th

First derivatives of the Lagrangian are as follows:

OLp 8 B (%ﬂ)ﬁw
o, (L48)7 [z - (14 1) YO A (78)
oL
= (1+)" [zw- (1+4)"] = (79)
8.1'h
aLp _ (ﬂtw)ﬁw
— = Br,(1+6)"" o (1+t) — —2o—
o1, Brw(l + 1) [9% (1+1) 1+ B)i+8
+Bzn(1 4 1) [z - (14 1)7] — Ao (80)
oL
(9_; = W — Xy — Ty — W (81)
We set all the first derivatives of the Lagrangian to zero and find the following:
Bw\g
8 _ . (E) w
(1 +tb) (J:h xw) - (1 +@)1+5 (82)
and,
14 t,)w
on -+ 3y = LD (85)
g
Using 83 in the budget constraint:
ty = il
T 1+ 8

We can see here that the household time bought can potentially have a boundary solution

ie.
0 if w<
by =q Bw_, (84)

5 if w>

g =gl

If t, hits a boundary solution, it must mean that we cannot set g—i = 0 given that g—i <0

at t, = 0, which is easily verified. We hence solve for the unknowns in both cases.

Purchased household time has a boundary solution, w <
30

w
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Here we have ¢, = 0, t, = 1, t, = 0 and T = 1. We set the derivatives of the La-
grangian with respect to z, x,, and X to zero. This gives us:

Th+ Ty = W (85)
and (ﬁ o
=) Pw
Ty — Ty = 0+ 5 (86)

Solving the linear equations, we get:

[+t ] ()
T ey e
_ o _ifaes ] (3w
B A [

Purchased household time has an interior solution, w > %

Bw _ w
Here we have t, = 0, t, = 1, t, = ?Tﬁl and T = B(ﬂgl) Using this in 82 and
83:
w+w
w = 87
Tp+ T 157 (87)
and
()
Tp — Ty = (14 5o (88)
Solving the linear equations, we get:
1/ o\ ] (5)Pw
=—|l14+— 1
w=3|(1+3) Y| wrones
1 [ L 1+8 1' (5)Pw
Ty = = — —
2 w (14+0)3(1+ )

The indirect utility functions are given by:

1] AN (%")ﬁw
V., = l - 1+ @ o -1 ﬂ
Y2 w (14 p)t+#

The husband has the option of preventing his wife’s participation in the labour force, but
he chooses this option over the non-patriarchal solution only if it increases his welfare.
Hence, we compare the husband’s welfare under the patriarchal solution with his welfare
under the non-patriarchal solution to figure out which one he will choose. The woman’s
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utility under dictatorship may or may not exceed her reservation utility as single. Despite
this, she is married because of the exogenous nature of match making in the marriage
market which doesn’t give her an option of being single. The welfare of the husband for
different ranges of w for both regimes is as follows:

w E (@, %}

The indirect utility of the husband under patriarchal solution, denoted by the subscript

Ph is:

(1+/)7
(%)

(2w

The indirect utility to the husband under the non-patriarchal solution, denoted by the
subscript Nh is:

Vpn =

1
2

1 146 4 q 148 (%w)ﬁw
VNh—§[(1+CK) +1— ()] e
Comparing the two, we find that:
1+t 148 148 (%) w
VPh_VNh—§ (%”)B —(14+a)™ + (o) 1+ 57

Vph—VNhZOiHZ g

(1 + B) * 1+ 143

AL >

(%w)ﬁ (14+a)™+(a) ™ >0

or,

(1+ /) ]é

_ _ 1
w < 0w hereézg |:(1+a)1+a_a1+a

w € (%, oo)
The indirect utility of the husband under patriarchal solution, denoted by the subscript
(2%

Ph is: s
_\ 1+
w
1+ — I T —
(+w) " (1+6)1+8

The indirect utility to the husband under the non-patriarchal solution, denoted by the
subscript Nh is:

1
VPh:§

Vg = 1 [(1 + ae)1+ﬁ + (1 _ (&6)1%)}

(2%
2 +

(1+p)r+s
Comparing the two, we find that:

(2w

1 AN "
_ _ = w _ 8 e _\w) Y
Ven — Vn 5 (1 + w) (14+a) ™+ (o) dt B
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Vph - VNh Z 0 iff:

or,

w< 0w hered =

[(1+ a)tte — a1+a]ﬁ 1

We see that &, in both the cases, is an increasing function of wage, when w € (@, O%} )

reaches a maximum value 64 when o = ay. Hence the binding constraint for the patri-
archal solution to be better than the non-patriarchal solution for the husband is w < §,w.

The analysis of the husband’s welfare under patriarchy tells us that, as the husband’s
wage rises, purchasing household time becomes progressively cheaper. When w > §4w,

the husband is better-off following the non-patriarchal solution and letting the wife par-
ticipate in the labour market.

5.2.2 The price of purchasing household time is more than the husband’s
wages, w < W

In this range as the husband’s wage keeps falling, a keeps rising. This corresponds to the
patriarchal regime when o > 1 with no market for household help. The couple’s labour

supply is as follows if & € <1, %)

L

0 if we(0,fw
1

Ih = jEn ifwe(ﬁw,
1 if we [2w

)

— Qllg|

Qllg]
~—

] :{1 ifwe(O,

0 ifwe[g,@}
Ifae[%,oo>
;)0 if we (0,Z)
"1 ifwe [Ew]
;T if we (0,2)
Y0 if we [Z,w)
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Summarizing the couple’s labour supply for household decision making in a patriar-

can be purchased from the market, is as follows if

chal regime, where household help

66(1,% :
0 if we (0,pw]
_Bw _
I, = 11+g sze(ﬂ %)
1 sze[% )
1 if we (0,2)
l,=¢X0 if we |2 64w)
1 sz€(5dwoo)
Ifae[%,oo):
0 if we (0,2)
Iy =
1 if we [Z 00)
1 if we (0,2)
ly =140 if we 2 040
1

Since the wage rate is a function of education i.e

labour supply with respect to their common education level as well. This is as follows if

a € <1,%>:

0
_ )=
b= 15
1
)
1
1, =140
1

if we (de, oo)

if e€(0,57]
zfeE(
zfee[

2[5

)
)

SIE

@\|g‘

, 00

zfeE(
zfee[

w
T

)
e
=)

>l

Q\lé‘

Ovn |

04w

zfee(
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h =
1 if we |2, 00)
(1 ifee(0,2)
l, =120 zfee[%,gfl?ﬂ
1 ifeE(g’iTﬁ,oo>

\

We now focus on the labour supply of the wife as a function of the husband’s wage rate
and her education level. Figures 10 and 11 plot the wife’s labour supply as a function of
husband’s wage and education level respectively. The following proposition summarizes
the findings of this section:

Proposition 5: The labour force participation of married women follows a U-shaped

pattern with respect to her education. Participation remains low for intermediate levels
of education, and is high for low and high levels of education.
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patriarchal regime. The Dashed line indicates the labour supply in the non-patriarchal
regime.
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Figure 10: Wife’s labour supply (/) as a function of her husband’s wage rate w in the
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Figure 11: Wife’s labour supply (I,,) as a function of her education level e in the pa-

triarchal regime. The Dashed line indicates the labour supply in the non-patriarchal
regime.
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6 Conclusions

We have two key findings in this chapter. The first is that patriarchal households, where
men have the choice between a gender neutral and a gender specific division of work,
will choose women’s participation in the labour force to maximize the welfare of men
and this generates a dead-weight loss in the households. The labour supply that results
from this household structure may lead to women not participating in the labour force
even if they have a higher earning potential than their husbands. The second is that
when we introduce a market for household help, we see that women’s labour supply, as a
function of her own education and husband’s wage, follows a U-shaped, which is observed
in the empirical literature. This paper hence provides a theoretical framework that helps
explain the puzzling empirical findings on female labour force participation.

Our study suggests that the patriarchal structure of households can have extremely ad-
verse welfare implications for married women and leads to loss of efficiency in economy
due to dead-weight losses in households. Thus it is imperative to focus on policies that
raise women’s bargaining power within the family. Policies that put money in the hands
of women will improve efficiency in household decision making. This is because money in
the hands of women will help increase their bargaining power in the household, which in
turn will reduce the gain to the husband from preventing the wife from working. Hence,
this study lends further support to the argument that programs which have conditional
cash transfers as incentives should be designed to transfer the money to women. This has
the dual benefit of providing incentives to adopt the program as well as reducing dead-
weight losses by raising women’s say in the household. Further, the U-shaped labour
supply curve of women with respect to education tells us that higher education of women
need not always lead to higher labour force engagement in patriarchal societies. Unless
women are empowered to break out of the patriarchal household set-up, education will
not have an unambiguous positive effect on their welfare.
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Appendices

A Numerical Analysis

A.1 Numerical Analysis for Welfare Comparisons between the
Patriarchal and Non-Patriarchal Solutions

The husband will choose to prevent his wife from joining the labour market if exercising
this option improves his welfare.

A.1.1 CASE: a € (5,1)

(1+B)H*° (1+a)t+?h BPw
Vph—VNh: T—i_&_ b 2(1—|—ﬁ)1+6 (89)

Vph 2 VNh iff: 5 5
1 1+ 1 1+
% +a— % >0 (90)

We plot the Vp, — Vi, for different values of 5 in figures 12, 13, 14 and 15. It is seen
that Vpy — Vyp never falls below 0 and is lower bounded by /.

A.1.2 CASE: ac [1,%)

1 1+ B
Vph—VNh: {%%—a—(l—l—a)ﬁ 2(15_% (91)
Ve — Vn =20
Iff,
(1+ )8

55 +a—(14+a)’>0

We plot (HS—[);M +a — (1+«a)? for different values of 3 € (0,1). The numerical plots are

1
]
such that when o < @, Vp, > V. However,a € [1, %) only if g € (0,0.68). Further,we

observe that @ is a decreasing function of 5.

given in figures 16, 17, 18 and 19. We observe for the range o € [1 >, there exists an o

A.1.3 CASE: o€ [%,1)

Ven — Vv > 0
T,
(1+p)!7

T+ 5 = 5

The plot of @ as a function of 3 is given in figure 20. We identify numerically that @
exceed % only for g € (0.68,1). Further,we observe that @ is a decreasing function of f.

a<a=
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Figure 12: Vp, — Viyy, for = 0.2 for a € (3, 1)
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Figure 13: Vp, — Vv, for = 0.5 for a € (3, 1)
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Figure 14: Vpy — Viyy, for 8= 0.7 for a € (8, 1)
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Figure 15: Vp, — Vi, for 5 =0.9 for a € (5,1)
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Figure 16: Vp, — Vi, for § = 0.1, with numerically identified o = 2.2.
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Figure 17: Vp, — Vi, for f = 0.3 with numerically identified @ = 1.8.
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Figure 18: Vpj, — Vivy, for 8 = 0.5 with numerically identified & = 1.475.
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Figure 19: Vp, — Vi, for g = 0.68 with numerically identified @ exceeding % and hence
dictatorship holds in the entire range.
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Figure 20: @ and S for 5 € (0,1).

A.2 Welfare of the Wife under the Patriarchal solution
Vpw — Vs > 0 if and only if:

The plot of a” as a function of 3 shown in figure 21.
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Figure 21: o as a function of 3 for 8 € (0,1).
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